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1.9429 & 23,226 23,226 0
2. ARA /W& Az} B2 449,207| 448,972 235
1.94 & 320,499| 320,264 235
1.3t 5229 320,499| 320,264 235
3. oA 1n] 2,747 2,512 235
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37184 w&EE 266,149| 266,149 0
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1. &g ) 2,700 1,800 900 | (74 B#)7Z3FF=-u] 0 900,00099*124]= 900,000
13. A AAF 3] T 18,400 12,000 6,400

1. &2 v 18,400 12,000 6,400 ég‘i %gglglgi% EEAREE 4,000,000
14,2023 % Sha e = 020 (<) 8L 8D 0 9,900
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(A EA)A=AF]F 1 1,700,000 x13]= 1,700,000
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15X 7184 62,336 59,336 3,000
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1.771 89 4,100 1,400 2,700 (A HA) A7 85 1 2,700,000%14]= 2,700,000

3. B A ALY {3710 500 200 300 (A EA) A Qg3 1 300,000%12]= 300,000
7.8 AFEE 0 0 0
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